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000 000000 z,yOOOOO 0000 2=+ 000000.2,y0
0000 20 OO0 (real part), 0 O (imaginary part) D 0 0O,z = Re(z),y = Im(z) O
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(1) —i0000o0o0oo.
) 200000 2, = a1 +iy1, 20 = 79 +igp 00, 0,00
2tz = (1) +i(vh £y2), 2122 = (2122 — Y1y2) + i((T1Y2 + T2Y1),

00000.0000 /000,000 z1,y1,22,9. 00000 0.

R 000 z=2+w000000000000 z—iy0d 2000000 (complex
conjugate) D 00O ,zO0O0O.0000000DOO0OOOOODOOODO.

(21 22) =71 - %2, %—/22:71/72 (29 #0).

4 000 z=2+4 0000 |20 Va2+42000000.0000000 2
Uobi0 »,000,00000000000000.

|21+ 20| < |z1| 4+ |22| (CODODODO)

(5 000 nOO0000 21,2, -2 000,00000000000000.

|21+ 20+ -+ 2| <z + |22 + -+ |20 (8.1)

20040 60 280 (0O DODO)



ooogi1rgo 44

82 DUOOUODODOO

a,t000000.00000000 e*0O

> (at)™ at  (at)?

at __ _ e
=2 BRI T

|
n—0 n.

0000000000000.0000=1000.000 00000000
ggooog,

gobooo.

bbb oU0b0ODbO0O0O0OoobOooog.
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000 z=za+iy(r,y000)000000,000000000 0000 (complex
plane 0000 1000000000.0000

z=r7r(cosf +isinf) = re?, (8.3
guooob.oobddobo bbb gob.obobbuooobobbouooooo

O000.000r=|zl=+v22+¢2%600 2000 (argument) 00 00,0 =argz O
ogoood.

1 000000000000 00D,agz00000O0OODDOO.

(2 000000000000
i, —i, 1—i, 1+V3i
(3 000000000
(cos @ +isinf)" = cosnd + isinnb, (8.4)
gooooooobg.

4 =10000000,0000000000000.
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(1) cos(0; £ 65) = cos by cos by F sin 0y sin b
(2) sin(0y £ 03) = cos b, sin 65 + sin Oy cos b,
(3) cos 260 = cos? 6 — sin® 6

(4) sin20 = 2sin 6 cos

20040 60 280 (0O DODO)



ooogi1rgo 47

85 OOOO

gogbbboodd -000,0000 z:0000000000D0O00O.

D [z=3l=1
(2 1<]2[ <3
(3 [1/2] <1

(4) argz = —7/6
5) Rez <1

(6)

(M) |z—2|+]z+2| <5

z—12>
z—l—l‘ —3
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